Couples Holding Hands (/problems/couples-holding-hands/)
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Submitted Code: 40 minutes ago

Language: cpp Edit Code

class Solution {
public:
int minSwapsCouples(vector<int>& row) {

int count = 0;
for (int i = @; i < row.size() - 1; i += 2) {
if (!isCouple(row[i], row[i + 1])) {
for (int j =1 + 2; j < row.size(); j++) {
if (isCouple(row[i], row[j])) {

int tmp = row[i + 1];
row[i + 1] = row[j];
row[j] = tmp;
break;
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count++;
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return count;
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bool isCouple(int a, int b) {

NN
(O

return (b - a ==1) && !(a % 2) || (a - b == 1) && a % 2;
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